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N. B.: (1) Question No. 1 is compulsory.
(2) Attempt any three questions from the remaining
(3) Figures to the right indicate full marks.
(4) Assume suitable data if necessary.

questions.

1. Attempt any four questions from the following:— 20

2.

(a) Explain with the help of circuit diagram any one method to obtain full-wave
rectification. '

(b) Find R and R, for the network given.

i Tag = 4odA | s

j: .Ic_qu: gl"l")A

(c) Can FET be employed as a voltage controlled resistor? If yes, explain how.
(d) List five characteristics of an ideal op-amp.
(e) Draw and explain an adder circuit using op-amp.

(f) Draw and explain the typical block diagram of a regulated power supply.

(a) Find I, Iy, Vg, Vi and V; for the following circuit. 10
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(b) Derive the stability factor S(1.,) for emitter-stabilized Bias circuit. Calculate S(I_)) 10

for the same circuit if Rg = 510 kQ, R, = 2.4 kQ, R, = 1.5 kQ, V.. = 2.4 kQ,
B = 100.
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3. (a) Find lp,, Vqsq, Vps Vp and V; for the following network. 10
18V
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Cg = 0.01 gF, C. =0.5 pF, Cg = 2uF, Ry, = 10kQ, Ry = 1 MQ, R, = 4.7 kQ,
Rg=1kQ, R, =22 KQ, Ines =8 mA, V =—4V, 1, =Q, V, =20V, ng = 2pF,
Cgs =@ pRC,,=05pF,C_=5pFC, =6pFA,=-3.
4. (a) Derive the conditions for stable oscillations for a Wien bridge oscillator. 10
(b). Explain the methods to improve CMRR in differential amplifiers. "
5. (a) Draw and explain with neat sketches the working of a class B push-pull amplifier. iﬂ

(b) Draw and explain a series voltage regulator.
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6. (a) Draw and explain working of a schmitt trigger (inverting and non-inverting 10
configuration) with input and output waveforms.

(b) For the network shown below find V,, V, I, and P,. -~
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(c) Find V, for the network shown below:— 5
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